The Platform Line

Mounting options

Preliminary Data

Max Rope @ = 20 mm

Braking Load Lateral = 33,1 kN
Breaking Load longitud. = 50,1 kN

Installation in teak deck
on welded metal structure or GRP (reinforced by
metal inlay). Screwing in threaded blind hole.

crens 10 SO 4762 D | | D Filling plate can be useful to
------------- ] ! ; [ ]] adjust height to teak surface

! !

! ]

Schrauben M10......... DIN 912 A —
R22 e \
o U~ N — - 1
Installation in teak deck on GRP structure R 20 \ edge to face inboards '
Screwing with nuts and big shims by R )
e \ o
[ \ [ |
. \\drainage possible here 1 H} 1
(1NN , u:‘ : a
uu / N | [
I bore for M10 (thread) / Y IR Ry =
it (4 times) / AT I ]
/ | [
h 88,5 ol 125 ol 88,5 i
g % -’ - S
[ s N oo N v
[ / \ W — 33
e NS e it e <:> A A I
&wﬁ - AN / o :}% [ o
Installation in GRP deck ¥:;fs;;fs;fs;ffs;fs;ff::‘jﬂf(::::::!::::j\%::‘:Fzzzzﬁzzzzzzzzzzzif | u
. . . . |
Screwing with nuts and big shims W e R ) }
W: :\ﬂ I i :W: :w LN g :
A-A .. hons I v |
- INOMEN)
B \\ O O J/) Y
o \

\ edge to face outboards

300 (ceat)
302 (deck opening)

A
vy

Complete unit as delivered
top plate and pivoted cover shown as
white lines (subject to change without notice)




The Platform Line

Mounting options

Installation in teak deck
on welded metal structure or GRP (reinforced by
metal inlay). Screwing in threaded blind hole.

Installation in teak deck on GRP structure
Screwing with nuts and big shims

Installation in GRP deck
Screwing with nuts and big shims

Complete unit as delivered
top plate and pivoted cover shown as
white lines (subject to change without notice)

Technical Data
Max Rope @ = 24 mm

Braking Load Lateral = 60,
Breaking Load longitud. = 91,2 kN

Screws M12
Schrauben M12

ISO 4762 m

DIN 912 - L ) L

m Filling plate can be useful to

adjust height to teak surface

\ edge to face inboards \\
- T ;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;\’\*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*;*%
1 ‘ \drainage possible here
- ;
bore for M12 (thread) // pu
(4 times) J <
/ (&)
106 | 150 / ] 106 o
0 C 2
// > N 00
- N / o
\5555555555555555555555:\fz\fff‘:* :::::\::;;:::::k:\:::‘sfsiiiiiiiiiiiiiiiiiiiii
o Tl m
[y R [ [ E—— (o]

\ edge to face outboards

360 (ceat)

362 (deck opening)

182 (deck opening)




The Platform Line

Mounting options

Installation in teak deck
on welded metal structure or GRP (reinforced by
metal inlay). Screwing in threaded blind hole.

Installation in teak deck on GRP structure
Screwing with nuts and big shims

Installation in GRP deck
Screwing with nuts and big shims

Complete unit as delivered
top plate and pivoted cover shown as
white lines (subject to change without notice)

‘ 392
Preliminary Data
Max Rope @ =32 mm | |
Braking Load Lateral = 74,6 kN ST T T e T
Breaking Load longitud. = 113 kN ST

CUTA-A

48

Screws M16............. ISO 4762 m

Filling plate can be useful to
adjust height to teak surface

Schrauben M16......... DIN 912 I!I A
R 33 ,\ ,,,,,,,,,,,,,,,,,,,,,,,,,,,,, e S
R 32 d edge to face inboards \

I bore for M16 (thread) /
Iy (4 timeS) '

) 141

tﬂTﬁJﬁ\“/Wr 7777777
e e
A-A ‘;;J ii[N]@ME[N]ii ‘77J

240 (cleat)
242 (deck opening)

7“

\ edge to face outboards

480 (ceat)

482 (deck opening)






